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1) In pigeons, feather color is determined by contributions from two genes (B and E) 
in the production of melanin for feathers.  

 
 
 
 
 
 
 
If you cross BbEe x BbEe individuals, what will be the ratio of brown: blue: red individuals 
in the offspring? 
 
___ brown : ____ blue : ____ red 
 
Key: 
 
So genotypes to phenotypes looks like this: 
B_ee = red 
bbee = red 
B_E_ = blue 
bbE_ = brown 
 
9 B_E_ : 3 B_ee  : 3 bbE_ : 1bbee 
9 blue : 3 brown : 4 red 
 

2) In pigeons, feather color is determined by contributions from two genes (B and D) in the 
production of melanin for feathers.  

 
 
 
 
 
 
 
If you cross BbDd x BbDd individuals, what will be the ratio of dilute brown: dilute blue: 
strong blue individuals in the offspring? 
 
___ dilute brown : ____ dilute blue : ____ strong blue 
 
Key: 
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So genotypes to phenotypes looks like this: 
B_D_ = strong blue 
B_dd = dilute blue 
bbD_ = dilute brown 
bbdd = dilute brown 
9 B_D_ : 3 B_dd  : 3 bbD_ : 1bbdd 
9 strong blue : 3 dilute blue: 4 dilute brown 
 


